State Assessments Quizzes.notebook March 27, 2019

1. Which of the following expression has a value of -3? 2. Which of the following expression has a value of 7.5?
A (-15)=(-5) A -(0.5)(15)
B -(15)+(-5) B (0.5)(-15)
C -(-15)=(-5) C -(-0.5)(-15)
D (15)=(5) D (0.5)(15)
Level 2 Level 2
3. Slmpllfy Std: 7.N.2 Std: 7.N.2
4. Bob had $550 in his savings account before he deposited $250
_15 5 = (_1 25) from his checking account to it. If what he now has in his savings
T ) account is a third of his checking account, how much does he have in
his checking account balance?
A -124
B 124 A $750
C -0.08 B $800
D 0.08 C $1650
D $2400
Level 2 Level 3-4
5. Simplify: e 6. Simplify: e
2+(9+1.5-15)x5 -5.8+(-10.35)
A -12 A 455
B -53 B -4.55
C 44 C 16.15
D 1.1155 D -16.15
Level 3-4 Level 3
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7. Simplify:

A 455
B -4.55
C 16.15

D -16.15

-5.8-(-10.35)

Std: 7.N.2

Level 3
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8. Simplify

B -22
C 22
D 2

F8l+121-12

Std: 7.N.2

Level 3




